MITOSIS by ___________

Mitosis is the process whereby a cell divides to form two new cells.
The two new cells are identical to each other and to the original cell except that their telomeres get shorter with every division.
Mitosis allows a person to grow and for old and damaged cells to be replaced.                                                                      
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Mutation by ___________

A mutation is when a mistake happens as the chromosomes replicate causing a gene to get switched on or off.
If a gene that is responsible for control of growth is turned off then the mutated cell divides very quickly and this uncontrolled growth causes a tumour to form. 
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